3n . 3. 3u
— 4 < —| 4 le— —»| 4 e— —{ 4 la—
(19) (19) (19) GUIDE (19)
. . , GUIDE
N Fe /
T \EFU /8 ¥
B || —
Zén ]%" | | _ ———ll"(BB) %% ZL" (52)__ _ _ |/’\‘
)
(52) (38) L2 ) 32 L B
L LA S 5
N Z )
UNIVERSAL STRIKE 22"(70) FOR 5" BOLT
1w 2"(19) g
8. e 1 i e« 5>"(146) FOR 8" BOLT -
3 2 5" (13) FOR 5" BOLT 2
(10) 1" (25) FOR 8" & 12" BOLT 95" (248) FOR 127 BOLT .
3" —_
f @i» g (10) < 6
Y
7. + T _T CLEARANCE —»| fa— + (30)
8 ! 2 %E"(l) MIN. |
(25) (51) aik === L Le—— |
(73) | L] CLEARANCE | —a T |
I l o DR} .
f fan [ I ' 19
l" | _l" ! J |_—"
l & é"(a) L 4 L 16 Do;;5> g"(lo) 32
- 18
21, STD. (6 (18) (15)
64 (B)—> ‘_P(——DOOR FRAME
MORTISE STRIKE HINGE(PEEEEIEAEO)UNTED
4" SHIM PROVIDED WITH
5" BOLT FOR FLUSH FRAME
APPLICATION
L1
CLEARANCE 5" (13) FOR 5" BOLT
1" (25) FOR 8™ & 12" BOLT
N <
3 HN
L PN 19,
ﬁ"(l) 32
MIN. CLEARANCE (15)
QTY | SCREW DETAILS
ZToon  STOP SIDE MOUNTED
(PUSH SIDE) 2 |#10 X 14" FPHSMS
INSTRUCTIONS : STRIKE > | l0-24 x 1" FPvS
1. DETERMINE SIDE OF DOOR TO WHICH BOLTS ARE TO BE
APPLIED. BOLT 4 |#10 X 13" FPHSMS
2. DRILL AND TAP MOUNTING HOLES IN DOOR FOR BOLT.
3. ATTACH BOLT TO DOOR. (STANDARD) | 4 | 10-24 X 1" FPHMS
4. SELECT EITHER MORTISE STRIKE OR UNIVERSAL STRIKE. .
5. ALIGN STRIKE WITH BOLT. 4 10-24 X 2z" FPHMS
6. PREPARE STRIKE MOUNTING HOLES. BOLT
7. ATTACH STRIKE. (THRU BOLT) |+ 10-24 CAP NUT
4 #10 WASHER
NOTE :
1. HOLLOW METAL DOOR & FRAME SHOULD BE PROPERLY BOLT 4 10-24 X 1" FPHMS
REINFORCED WITH 3/16™ (5) MINIMUM OF THICKNESS (SEX BOLT)
PLATE. 4 SEX BOLTS

o SBO454 SURFACE BOLT

INSTALLATION TEMPLATE

AR Security & Safety.

NOTE: DIMENSIONS IN () ARE MILLIMETERS.

TEMPLATE
NUMBER:

INST.5B0454_0

DATE:
08/01/01




